» Netti 24U FAMILY
COMFORT BY ALU REHAB

SPAREPARTS
& ACCESSORIES

» Netti 4u CE PLUS

OOOOOOO

Enable joy o{é',é

2019-03



MBI  Designed in Norway

SPARE PARTS
& ACCESSORIES

* Frame.. 3
© BacK .o 6
* Back & seat unit ... 8
* Head Support....vveeeecveennn. 15
* Arm SUpport....viviieeeeens 21
° Leg SUppOrt....veeeiiiiieeen, 24
* Wheel and Accessories. ...... 28
o TableS..i 32
© MISC. i 34

Welcome to this catalogue which makes it easy for

“ you to find the right product for your wheelchair. It
provides you with a complete overview of the avail-
able accessories as well as spare parts. If you have
any questions please don’t hesitate to call us or send
us an email.



FRAME

Position Description

—_

Foot support locking bracket R

Foot support locking bracket L

Seat plate solid Netti 4U CE/CE(S) PLUS/CEDS 35 cm
Seat plate solid Netti 4U CE/CE(S) PLUS/CEDS 40 cm
Seat plate solid Netti 4U CE/CE(S) PLUS/CED 45 cm
Seat plate solid Netti 4U CE/CE(S) PLUS/CED 50 cm
Bolt CTSK Head pozidrive DIN965 M5x35 mm

Washer Low Seat plate

Washer High Seat plate

N O o AN NN WN

Bolt Hex socket Head DIN912 M8x40 mm

FRONT PIECE

Position Description

Front piece right kit Netti CE/CE(S) PLUS
Front piece left kit Netti CE/CE PLUS

¥ Netti 4u ce PLUS

Item no.

29555
29556
28432
28433
28434
28435
22098
22084
24141
21095

Item no.

28172
28173

Pcs. per chair

N ONNDA

Pcs. per chair

. AWV IS

COMFORT MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 3



l FRAME

4 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

GAS CYLINDER

Position Description Item no. Pcs. per chair
1 Cylinder back kit 29471 1
2 Cylinder tilt kit 29472 1
3 Cylinder tilt 28439 1
4 Cylinder back 28559 1
5 Cylinder locking head 90122 1
Cylinder mounting kit 87370 1

D15
@104
5

7y

TILT RESTRICTOR

Position Description Item no. Pcs. per chair

TRANSPORT OF WHEELCHA

Position Description Item no. Pcs. per chair

¥ Netti 4u ce PLUS

COMFORT



BRAKE

Position

Description

Brake, right
Brake, left
Brake handle, long 310 mm

FRAME EXTENDER

Position

Description

Item no. Pcs. per chair

Item no. Pcs. per chair

1 Frame extender for 22/24” wheels 85013 1
2 Frame extender for 16” wheels 82391 1

¥ Netti 4u ce PLUS

COMFORT

l AWV IS

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 5



ANGLE ADJUSTABLE PUSH BOW

Position Description Pcs. per chair

Angle adjustable push bow Netti 35 cm

Angle adjustable push bow Netti 40 cm
Angle adjustable push bow Netti 45 cm
Angle adjustable push bow Netti 50 cm

J/® \D
l::lﬂ‘\©
DRIVING HANDLE
Position Description Item no. Pcs. per chair
1 Push handle 300 mm 21754 2
1 Push handle 500 mm 21808 2
2 Lock nut DIN985 M6 20058 2
5 Bolt Hex socket button Head M6x25 mm 20992 2
4 Release handle lockable for drum breaks 41313 2
5 Wire 1170/ 1370 mm 27628 2
6 Wire clamp 23188 2

l BACK

v
6 Tel. DK: +45 8788 7300 & NO +47 51 78 62 20 | MY-NETTI.COM NettiaucepLus



BAC

Position

K

_

© O N O o ot ;oo b~ WNN

Description Item no. Pcs. per chair
Back compl Netti 4U CE(S) PLUS 35 cm 80749 1
Back compl Netti 4U CE(S) PLUS 40 cm 80750 1
Back compl Netti 4U CE(S) PLUS 45 cm 80751 1
Back compl Netti 4U CE(S) PLUS 50 cm 80752 1
Back hinge bracket 28154 2
Cylinder hinge back 28124 1
Quick release axle @8x45 29467 1
Back fabric Netti 4U CE(S) PLUS 35 cm 80759 1
Back fabric Netti 4U CE(S) PLUS 40 cm 80760 1
Back fabric Netti 4U CE(S) PLUS 45 cm 80761 1
Back fabric Netti 4U CE(S) PLUS 50 cm 80762 1
Push bow bracket kit 26051 2
Plug 21847 2
Latch lever M6x16 mm 20097 3
Release handle tilt/back right 20463 1
Release handle tilt/back left 20464 1
Head support adapter 23005 1
Head support adapter alu 82025 1
Back hinge screw kit 84725 2
Netti velcro back, 6 straps 88772 1
Netti velcro back, 6 straps with cut for side supports, 35-50x35 cm 44992 1

BACK EXTENDER

Position

Description

Back extender 60 cm, complete

Back extender velcro

¥ Netti 4u ce PLUS

COMFORT

Item no. Pcs. per chair

43799

43797 1)

l Movd

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 /



@

SIDE SUPPORT STABIL

Position Description Pcs. per chair

Side support Stabil, right 1
Side support Stabil, left 1
Side support upholstery Stabil 1/2

Position Description Pcs. per chair

Side support Correction, right 1

Side support Correction, left 1

Pad for side support Correction 1/2

l BACK AND SEAT UNIT

v
8 Tel. DK: +45 8788 7300 & NO +47 51 78 62 20 | MY-NETTI.COM NettiaucepLus



SIDE SUPPORT BASIC

Position Description Item no. Pcs. per chair

LUMBAR SUPPORT

Position Description Item no. Pcs. per chair

Lumbar support seat width 35-40 cm 2838 1
Lumbar support seat width 45-50 cm 2839 1

¥ Netti 4u ce PLUS

l 1INN L¥3S ANV MOvd

COMFORT MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 9



_IBERTAS OPTION:
15° BACK FLEXIBILITY
-OR AN IMPROVED
SEATING COMFORT

NETTI LIBERTAS

Position Description Item no. Pcs. per chair

Netti Libertas 15° flexible back, 80N cylinder

Netti Libertas 15° flexible back, 120N cylinder

Netti Libertas 15° flexible back, 160N cylinder

When using the Netti Libertas, the chair is not suitable as a car seat in a car.

l BACK AND SEAT UNIT

10 Tel. DK: +45 8788 7300 & NO +47 51 78 62 20 | MY-NETTI.COM b NettiaucepLus



ABDUCTION BLOCK

Position

Description

Abduction block, small (W:80, L: 140, H:80 mm)
incl. seat plate reinforcement kit

Abduction block, medium (W:110, L:150, H:80 mm)
incl. seat plate reinforcement kit

Abduction block, large (W:140, L:170, H:80 mm)
incl. seat plate reinforcement kit

Seat plate reinforcement kit

Item no.

86096

86097

86098

85978

Pcs. per chair

WEDGE CUSHION

Position

¥ Netti 4u ce PLUS

COMFORT

Description

|~

Item no.

Pcs. per chair

l 1INN L¥3S ANV MOvd

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20 11



l BACK AND SEAT UNIT

(&3] a o o 0 b~ W N

©® W 00 N N o o O

Description

Bodypoint pelvic stabiliser Evoflex 2-point XS (bracket 45279 not included)

Bodypoint pelvic stabiliser Evoflex 2-point M (bracket 45279 not included)
Bodypoint pelvic stabiliser Evoflex 2-point L (bracket 45279 not included)
Bracket for 2-point Bodypoint belt

Bodypoint 4-point belt XS (bracket 45280 not included)

Bodypoint 4-point belt M (bracket 45280 not included)

Bodypoint 4-point belt L (oracket 45280 not included)

Bracket for 4-point Bodypoint belt

Netti Hip belt, with upholstery and car belt lock incl. brackts

Extra bracket for Netti hip belt

Bodypoint Belt hip, 2-point XS (bracket 45279 not included)

Bodypoint Belt hip, 2-point S (bracket 45279 not included)

Bodypoint Belt hip, 2-point M (bracket 45279 not included)

Bodypoint Belt hip, 2-point 82 cm for SW 55-65 cm
(bracket 45279 not included)

Bodypoint Belt hip, 2-point 92 cm for SW 65-75 cm
(bracket 45279 not included)

Security cover XS, Bodypoint, 2,5 cm

Security cover M, Bodypoint, 4 cm

Security cover L, Bodypoint, 5 cm

Abduction belt SW 35-45 cm

Abduction belt SW 50-60 cm

Universal Elastic Strap S (H: 8 cm - L: 142 cm, possible to shorten)
Universal Elastic Strap L (H: 11 cm - L: 142 cm, possible to shorten)

Universal Elastic Strap XL (H: 15 cm - L: 142 cm, possible to shorten)

Iltem no.

45021

82788
82789
45279
45081
45013
45014
45280
20845
41698
45096
45079
45080
45276

45277

45047
45048
45049
41646
41647
45084
45085
45086

Pcs. per chai

< B =
A
+ wir: —— N - ——
10 a__(o] | np;
f =
L |
< D o
# A B C D
45081 4 cm 36 cm 55cm 130 cm
45013 4 cm 46 cm 55cm 142 cm
45014 5cm 57,5 cm 75 cm 155 cm
20845 4,7 cm 50 cm 7 cm 167 cm
45096 4 cm 36 cm 55cm 130 cm
45079 4 cm 40 cm 5cm 142 cm
45080 4 cm 46 cm 5cm 142 cm
45276 5cm 82 cm 9cm 206 cm
45277 5cm 92 cm 10 cm 206 cm

r

12 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

¥ Netti 4u ce PLUS

COMFORT



2 3 ©
B
£ 7"]"' ' a F
C \ ' A
I u | rE
G 1 \\ / T |
B E
T —
A

# A =) € D E F G
41645 22 cm 12cm 21cm 6,5cm 13 cm - -
45093 24-28 cm
45094 28-33 cm
45015 30 cm 18 cm 20 cm 4 cm 13 cm 33-41cm -
45016 38 cm 21cm 23 cm 6 cm 13 cm 41-48 cm o
45095 48-56 cm
45089 21-24 cm
45090 24-28 cm
45091 28-33 cm
45017 - 15-25,5 cm - - - 33-41cm 37 cm
45018 = 17-30 cm = 6,5 cm = 41-48 cm 42,5 cm
45092 48-56 cm

H-BELT & HARNESSES: NETTI & BODYPOINT (we recommend H-belt adaptor)

Position

—_

A A DD DM DA W AN N N NN

¥ Netti 4u ce PLUS

COMFORT

Description

Netti H-belt upholstered with car lock
Netti Belt Cross harness

Bodypoint Stayflex chest support XS
Bodypoint Stayflex chest support S
Bodypoint Stayflex chest support M
Bodypoint Stayflex chest support L
Bodypoint Stayflex chest support XL
Bodypoint PivotFit Shoulder Harness XXS
Bodypoint PivotFit Shoulder Harness XS
Bodypoint PivotFit Shoulder Harness S
Bodypoint PivotFit Shoulder Harness M
Bodypoint PivotFit Shoulder Harness L

Bodypoint PivotFit Shoulder Harness XL

Item no.

20881
41645
45093
45094
45015
45016
45095
45089
45090
45091
45017
45018

45092

Pcs. per chair

l 1INN L¥3S ANV MOvd

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 13



l BACK AND SEAT UNIT

N

1))
(2)

» Y
D

AN
(4)

H-BELT ADAPTOR

Position Description

H-harness adaptor kit for seat width 25-40 cm, back height standard
H-harness adaptor kit for seat width 25-40 cm, back height extended
H-harness adaptor kit for seat width 43-45 cm, back height standard
H-harness adaptor kit for seat width 43-45 cm, back height extended
H-harness adaptor kit for seat width 50-60 cm, back height standard

o A a0 A NN

H-harness adaptor kit for seat width 50-60 cm, back height extended

Iltem no.

86888
86889
86892
86893
86894
86895

Pcs. per chair

Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

¥ Netti 4u ce PLUS

COMFORT



HEAD SUPPORT - COMPLETE

Position

m m O O O O W W

i
o 0

E-L
E-L
F
F

¥ Netti 4u ce PLUS

COMFORT

Description

Head support A 3D

Head support A Easy Care

Head support A with head band 3D

Head support A with head band Easy Care

Head support B 3D

Head support B Easy Care

Head support C 3D

Head support C Easy Care

Head support D 3D

Head support D Easy Care

Head support E 3D

Head support E Easy Care

Head support E 3D short right side 11,5 cm, left 177 cm

Head support E Easy Care short right side 11,5 cm, left 17 cm
Head support E 3D short left side 11,5 cm, right 17 cm

Head support E Easy Care short left side 11,5 cm, right 177 cm
Head support F 3D

Head support F Easy Care

Item no.

40880
28382
82566
44970
40881
28383
40882
28384
81024
82986
84850
85240
88860
88863
88866
88869
84570
85258

Pcs. per chair

l 140ddNs dv3aH

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 15



l HEAD SUPPORT

Pcs. per chair

K

ACCESSORIES TO HEAD SUPPORTS Py //
Position Description Item no.

1 Vertical bar 200 mm 41401

1 Vertical bar 350 mm (Standard) 41402

1 Vertical bar 500 mm 41403

6 Clamp lever M6 x 30 mm for head support, height adjustable 20282

7 Washer M6 20063

8 Star wheel M8 26684

9 Washer M8 29305

10 Square plug horisontal bar 20 x 30 x 11 mm 20852

Plastic plug vertical bar 20509

HEAD SUPPORT A WITH DIFFERENT TUBE LENGTHS & COVERS

Position Description

Head support A w/tube 150 mm, (Standard) Easy Care
Head support A w/tube 150 mm, (Standard) 3D

Head support A w/tube 250 mm, Easy Care

Head support A w/tube 250 mm, 3D

Head support A w/tube 380 mm, Easy Care

Head support A w/tube 380 mm, 3D

Extra cover for head support A (Easy Care)

Extra cover for head support A (3D)

Item no.

42369
42370
42372
42373
42375
42376
27554
40883

Pcs. per chair

HEAD SUPPORT A WITH BAND WITH DIFFERENT TUBE LENGTHS

Position Description

Item no.

Pcs. per chair

Head support A with band w/tube 150 mm, (Standard) 3D
Head support A with band w/tube 250 mm, Easy Care
Head support A with band w/tube 250 mm, 3D

Head support A with band w/tube 380 mm, Easy Care
Head support A with band w/tube 380 mm, 3D

Head support A with band w/tube 150 mm, (Standard) Easy Care 87397

87398
87399
87400
87401

87402

16 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

¥ Netti 4u ce PLUS

COMFORT



HEAD SUPPORT B WITH DIFFERENT TUBE LENGTHS & COVERS

Position Description Item no. Pcs. per chair
Head support B w/tube 150 mm (Standard), Easy Care 42360 1
Head support B w/tube 150 mm (Standard), 3D 42361 1
Head support B w/tube 250 mm, Easy Care 42363 1
Head support B w/tube 250 mm, 3D 42364 1
Head support B w/tube 380 mm, Easy Care 42366 1
Head support B w/tube 380 mm balljoint pip, 3D 42367 1
Extra cover for head support B (Easy Care) 27555 1
Extra cover for head support B (3D) 40884 1

HEAD SUPPORT C WITH DIFFERENT TUBE LENGTHS & COVERS

Position Description Item no. Pcs. per chair
Head support C w/tube 150 mm (Standard), Easy Care 42351 1
Head support C w/tube 150 mm (Standard), 3D 42352 1
Head support C w/tube 250 mm 250, Easy Care 42354 1
Head support C w/tube 250 mm, 3D 42355 1
Head support C w/tube 380 mm, Easy Care 42357 1
Head support C w/tube 380 mm, 3D 42358 1
Extra cover for head support C (Easy Care) 27556 1
Extra cover for head support C (3D) 40885 1

HEAD SUPPORT D WITH DIFFERENT TUBE LENGTHS

Position Description Item no. Pcs. per chair
Head support D w/tube 150 mm (standard), Easy Care 82983 1
Head support D w/tube 150 mm (standard), 3D 81021 1
Head support D w/tube 250 mm, Easy Care 82984 1
Head support D w/tube 250 mm, 3D 81022 1
Head support D w/tube 380 mm, Easy Care 82985 1
Head support D w/tube 380 mm, 3D 81023 1

¥ Netti 4u ce PLUS

l 140ddNs dv3aH

COMFORT MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 17



HEAD SUPPORT E WITH DIFFERENT TUBE LENGTHS

Position

1

N N N W W W NN DN NN

Description

Head support E w/tube 150 mm (Standard), Easy Care
Head support E w/tube 150 mm (Standard), 3D

Head support E w/tube 250 mm 250, Easy Care

Head support E w/tube 250 mm, 3D

Head support E w/tube 380 mm, Easy Care

Head support E w/tube 380 mm, 3D

Head support E w/tube 150 mm (Standard), Easy Care, short right side
Head support E w/tube 150 mm (Standard), 3D, short right side
Head support E w/tube 250 mm Kugelrohr, Easy Care, short right side
Head support E w/tube 250 mm Kugelrohr, 3D, short right side
Head support E w/tube 380 mm Kugelrohr, Easy Care, short right side
Head support E w/tube 380 mm Kugelroht, 3D, short right side

Head support E w/tube 150 mm (Standard), Easy Care, short left side
Head support E w/tube 150 mm (Standard), 3D, short left side
Head support E w/tube 250 mm Kugelrohr, Easy Care, short left side
Head support E w/tube 250 mm Kugelrohr, 3D, short left side
Head support E w/tube 380 mm Kugelrohr, Easy Care, short left side
Head support E w/tube 380 mm Kugelrohr, 3D, short left side

Item no.

87407
87408
87409
87410
8741
87412
88850
88847
88851
88848
88852
88849
88856
88853
88857
88854
88858
88855

Pcs. per chair

HEAD SUPPORT F WITH DIFFERENT TUBE LENGTHS

Position

l HEAD SUPPORT

Description

Head support F w/tube 150 mm (Standard), Easy Care
Head support F w/tube 150 mm (Standard), 3D

Head support F w/tube 250 mm 250, Easy Care

Head support F w/tube 250 mm, 3D

Head support F w/tube 380 mm, Easy Care

Head support F w/tube 380 mm, 3D

18 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

Item no.

87413
87414
87415
87416
87417
87418

¥ Netti 4u ce PLUS

COMFORT



o

HEAD CUSHION WITH ELASTIC BAND

Position Description Item no. Pcs. per chair

- Head pillow with elastic band, grey 3950

HEAD SUPPORT CUSHION COMFORT

Position Description Item no. Pcs. per chair

- Head cushion cushion Comfort for head support C 3952

HEAD SUPPORT FIXATION BRACKET

Position Description Item no. Pcs. per chair
Head support fixation bracket, aluminium, width 35 * 23017 1
Head support fixation bracket, aluminium, width 38 * 42329 1
Head support fixation bracket, aluminium, width 40 * 23018 1
Head support fixation bracket, aluminium, width 43 * 23019 1
Head support fixation bracket, aluminium, width 45 * 23020 1
Head support fixation bracket, aluminium, width 50 * 23021 1
Head support fixation bracket, aluminium, width 55 * 23022 1
Head support fixation bracket, aluminium, width 60 * 23023 1

* Fixation of head support bracket mounted on push bar. Cannot be combined with aluminium head support adaptor (item 82025)

¥ Netti 4u ce PLUS

l 140ddNs dv3aH

COMFORT MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 19



HEAD SUPPORT FROM SYMMETRIC DESIGN

Position Description
1 Savant Pediatric including head band (without bars)
1 Savant Small including head band (without bars)
1 Savant Adult including head band (without bars)
2 Savant side support
3 Horisontal bar for Netti wheelchairs, 150 mm*
3 Horisontal bar for Netti wheelchairs, 250 mm*
4 Axion rotation hardware 60°
4 Axion rotation hardware 90°
5 Extra adapter for mounting Axion adaptor with Netti head supports

Item no.

45365
45366
45367
45373
45369
45370
45368
45378

89558

Pcs. per chair

l HEAD SUPPORT

20 Tel. DK: +45 8788 7300 & NO +47 51 78 62 20 | MY-NETTI.COM

¥ Netti 4u ce PLUS

COMFORT



ARM SUPPORT

Position Description Item no. Pcs. per chair
1 Arm support right Netti 4U CE(S) PLUS 80893 1
1 Arm support left Netti 4U CE(S) PLUS 80894 1
2 Arm support pad 385x58 mm PU 20835 2
3 Washer DIN9021 M5 Wide 23594 4
4 Bolt pan Head philips DIN7985 M5x35 mm 21323 4
5 Arm support clothe protector R 80891 1
5 Arm support clothe protector L 80892 1
6 Nut M8 7x15x45 80848 2
7 Bolt Hex socket Head DIN912 M8x20 mm 25431 2
8 Bolt Hex socket Head M5x12 ISO 4762 BFZB 43169 8
9 Arm support comf. pad R 80917 1
9 Arm support comf. pad L 80918 1
10 Support guide bar 80846 2
n Locking bracket kit 81139 1
12 Support guide bar w/lock 80911 2
13 Arm support expansion kit (expands the sw with 2 or 4 cm) 80913 1

l 140ddNS WYV

b Netti au cepLus MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20 21



ARM SUPPORT PAD

Position Description Item no. Pcs. per chair

1 Arm support pad standard 385 x 58mm 20835 2

Arm support pad PU, 445 x 68 mm 29136 2
2 Arm support pad PU, 420 x 80 mm 29137 2

Arm support pad PU, 525 x 80 mm 29138 2
3 Arm support pad w. bend PU, 525 x 80 mm 29139 2
4 Arm support pad cover (extra soft) 3D 385 x 58 mm 41649 2
4 Arm support pad cover (extra soft) EasyCare 385 x 58 mm 87765 2
4 Arm support pad cover (extra soft) 3D 420 x 80 mm 82563 2

ARM SUPPORT HEMPLEGIC

Position Description b Pcs. per chair

Hemplegic arm support pad upper part, right 1
Hemplegic arm support pad upper part, left 1

CUSION HEMIPLEGIC

Position Description Item no. Pcs. per chair

l ARM SUPPORT

22 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM b Netti au cepLus



¥ Netti 4u ce PLUS

COMFORT

l 140ddNS WYV

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20 23



I LEG SUPPORT

24 Tel. DK: +45 8788 7300 & NO +47 51 78 62 20 | MY-NETTI.COM

» Netti 4u cE PLUS

OOOOOOO



PARTS FOR FOOT SUPPORT

Position

O 0 N O o0 b NN N NN

28

29

30

Description

Foot support angle adj R Black 35 cm Easy Care / 3D
Foot support angle adj R Black 40 cm Easy Care / 3D
Foot support angle adj R Black 45 cm Easy Care / 3D
Foot support angle adj R Black 50 cm Easy Care / 3D
Foot support angle adj L Black 35 cm Easy Care / 3D
Foot support angle adj L Black 40 cm Easy Care / 3D
Foot support angle adj L Black 45 cm Easy Care / 3D
Foot support angle adj L Black 50 cm Easy Care / 3D
Foot support angle adj R Black Easy Care / 3D

Foot support angle adj L Black Easy Care / 3D

Knee pad Easy Care / 3D

Mechanical adjust bar R

Mechanical adjust bar L

Lock nut DIN985 M6

Starwheel M6 d40

Adjust arm locking cone

Bolt Hex socket button Head ISO7380 M6x40 mm
Calf support 35 cm

Calf support 40 cm

Calf support 45 cm

Calf support 50 cm

Calf support adapter

Nut low DIN439 M8

Foot plate R 35 cm (350 mm)

Foot plate R 40 cm (350 mm)

Foot plate R 45 cm (350 mm)

Foot plate R 50 cm (350 mm)

Foot plate L 35 cm (350 mm)

Foot plate L 40 cm (350 mm)

Foot plate L 45 cm (350 mm)

Foot plate L 50 cm (350 mm)

Bolt Hex socket Head M6x12 ISO 4762 12.9 BFZB
Washer DIN9021 D6.4x18x1.5 mm

Pedal plate alu hinge cmpl

Spring 1x6x65

Foot plate lock, complete, right.

Foot plate lock, complete, left

Adjustment piece 245 mm

Adjustment piece 350 mm, standard

Angle adjustable upper leg support with lever, knee upholstery 3D /
Eascy Care, right

Angle adjustable upper leg support with lever, knee upholstery 3D /
Easy Care, left

Adjustment piece for uppper part with lever, mechanical, complete with
screws, right

Adjustment piece for uppper part with lever, mechanical, complete with
screws, left

ADJUSTABLE FOOT SUPPORT

Position

Adjustable foot support kit with screws 87088

Description Item no.

¥ Netti 4u ce PLUS

COMFORT

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20

Item no.

41802 / 29500
41806 / 29502
41810 / 29504
41812 / 29505
41803 / 29508
41807 / 29510
41811 / 29512
41813 / 29513
41762 / 41960
41763 / 41961
29683 / 40886
29558
29559
20058
27388
20539
20103
27964
27965
27966
27967
25353
20761
28621
28623
28625
28626
28649
28651
28653
28654
43499
20356
28523
27858
80691
80692
23172
23173

88211 / 88213

88212 / 88214

88207

88208

Pcs. per chair

Pcs. per chair

_ =

N N N NN NN N DN NDNDDNDMDNDNDNMDNDDNDNDNDDNDDNNDNNDN

—_

NN

l 140ddNs 9371

N
Ul



l LEG SUPPORT

FOOT PLATE UPHOLSTERY

Position Description
1 Foot plate upholstery, seat width 35 cm, right
1 Foot plate upholstery, seat width 40 cm, right
1 Foot plate upholstery, seat width 45 cm, right
1 Foot plate upholstery, seat width 50 cm, right
2 Foot plate upholstery, seat width 35 cm, left
2 Foot plate upholstery, seat width 40 cm, left
2 Foot plate upholstery, seat width 45 cm, left
2 Foot plate upholstery, seat width 50 cm, left

PADS FOR CALF SUPPORT

Position Description

1 Pads for calf support bracket, skai

Pads for calf support 35 cm, 3D

Pads for calf support 38-40 cm, 3D

Pads for calf support 43-45 cm, 3D

Pads for calf support 50 cm, 3D

Pads for calf support 35 cm, EasyCare
Pads for calf support 38-40 cm, EasyCare
Pads for calf support 43-45 cm, EasyCare

Pads for calf support 50 cm, EasyCare

Item no.

28453
28457
28461
28463
28454
28458
28462
28464

Pcs. per chair

Item no.

21745
41617
41618
41619
41620
87767
87768
87769
87770

Y

R
\1/

Pcs. per chair

N N M N NN N DNMNDN

ANKLE HUGGERS

Position Description
1 Ankle huggers S (17-20 cm) incl. mouting kit
1 Ankle huggers M (19-23 cm) incl. mouting kit
1 Ankle huggers Large (22-29 cm) incl. mouting kit
1 Ankle huggers X-Large (28-33 cm) incl. mouting kit
Mounting kit

Item no.

45025
45026
45027
45028

45024

Pcs. per chair

N

26 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

¥ Netti 4u ce PLUS

COMFORT



FOOT SUPPORT UNIVERSAL

Position Description Item no. Pcs. per chair
1 Foot support Universal, right 26708 1
2 Foot support Universal, left 26722 1
3 Foot plate w/ heel strap 35 cm, right 80030 1
4 Foot plate w/ heel strap 35 cm, left 80038 1
3 Foot plate w/ heel strap 40 cm, right 80032 1
4 Foot plate w/ heel strap 40 cm, left 80039 1
3 Foot plate w/ heel strap 45 cm, right 80034 1
4 Foot plate w/ heel strap 45 cm, left 80042 1
3 Foot plate w/ heel strap 50 cm, right 80035 1
4 Foot plate w/ heel strap 50 cm, left 80043 1

KNEEPADS FOR UNIVERSAL FOOT SUPPORT

Position Description Item no. Pcs. per chair

Kneepads, universal 3D, L

Kneepads, universal 3D, R

Kneepads, universal Easy Care, L

Kneepads, universal Easy Care, R

l 140ddNs 9371

b Netti au cepLus MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 27



FRONT CASTOR

Position Description Item no. Pcs. per chair
1 Front castor w/ fork 6” Netti 4U 86141 2
1 Front castor w/ fork 7” Netti 4U (standard) 86136 2
1 Front castor w/ fork wide 7" Netti 4U 89944 2
2 Front fork (HxW) 165x45 mm Netti 4U 41554 2
2 Front fork (HxW) 80x45 mm Netti 4U 28486 2
2 Front fork (HxW) 180x60 mm Netti 4U 43151 2
3 Front castor 7” (175x33 mm) 86135 2
3 Front castor 7” (175x45 mm) 89922 2
3 Front castor 6” (150x27 mm) 86138 2
4 Bolt Hex Head M8x65 mm 20419 2
5 Washer DIN125 M8 20068 2
6 Lock nut DIN985 M8 20412 2

SPOKE PROTECTOR

Position Description b Pcs. per chair

Spoke protector transparent 22”

Spoke protector transparent 24”

PUSH RIM COVER

Position Description Item no. Pcs. per chair

Push rim cover 22” 86001
Push rim cover 24” 86000

l WHEELS AND ACCESSORIES

28 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM b Netti au cepLus



MAIN WHEEL

Position Description Item no. Pcs. per chair
1 Main wheel 22” x 1 PU 83158 2
1 Main wheel 22” x 1 PU 83156 2
1 Main wheel 24 x 17 PU 83157 2
2 Push rim aluminium 22” 43031 2
2 Push rim aluminium 22~ 43028 2
2 Push rim aluminium 24” 43029 2
3 Wheel distance tube push rim 21 2
4 Wheel bushing M18x60 85648 2
5 Quick release axle 12x118 mm 85264 2

¥ Netti 4u ce PLUS

COMFORT

l S3IIHYOSSIDODV ANV STIIHM

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 29



MAIN WHEEL DRUM BRAKE

Position

n
n

O 0 N O A A N N NN

(S]

' WHEELS AND ACCESSORIES

Description

Wheel drum brake 125" PU with drum brake, complete kit
Wheel drum brake 16” PU with drum brake, complete kit
Wheel drum brake 24” PU with drum brake, complete kit
Wheel drum brake 20x1” PU

Wheel drum brake 22x1” PU
Wheel drum brake 24x1” PU
Push rim aluminium 20”

Push rim aluminium 22”

Push rim aluminium 24”
Wheel distance tube push rim
Brake plate right

Brake plate left

Quick release axle 12x118 mm
Positioner lock DB

Bolt Hex socket button Head ISO7380 M6x14 mm
Lock nut DIN985 M6

Wire 1400/1550 mm

Release handle lockable

Item no.

29315
29316
29317
83158

43101
43103
43031
43028
43029
21

85285
85284
85264
23433
24416
20058
27628
41313

Pcs. per chair

2
2
2
2
2
2
2
2
2
2

_ -

N NN N NN

30 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

¥ Netti 4u ce PLUS

COMFORT



ANTI-TIP

Position

a A N N

ANTI-TIP

Position

¥ Netti 4u ce PLUS

COMFORT

Description

Anti tip Netti 4U 24~

Anti tip Netti 4U 20-22”

Anti tip spring

Anti tip locking pin D12xd6

End plug anti tip

Bolt Hex socket button Head ISO7380 M6x20 mm

Description

Anti tip w/ pedal Netti 4U
Anti tip locking pin D12xd6
Anti tip spring Netti 4U

Anti tip w/ pedal x-long/short for frame extender

Item no.

28018
28816
26783
26844
28012
23316

Item no.

Pcs. per chair

N NN N NN

Pcs. per chair

l S3IIHYOSSIDODV ANV STIIHM

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20 31



Description Item no. Pcs. per chair

Universal tray hinged seat width 35-40 cm, swirvel, reinforced, complete

Universal tray hinged seat width 43-50 cm, swirvel, reinforced, complete

Adapter kit as spare part

Description b Pcs. per chair

Universal tray with lock seat width 35-40 cm, complete

Universal tray with lock seat width 43-50 cm, complete

Adapter kit as spare part

Position Description Item no. Pcs. per chair

Reinforced tray standard, seat width 35-40 cm, complete 1
Reinforced tray standard, seat width 43-50 cm, complete 1
Guide rail for tray as spare part 2

l TABLE

32 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM b Netti au cepLus



TRAY "PLAIN”

Position Description Item no. Pcs. per chair

Tray ”plain”, seat width 35-43 cm 1
Tray “plain”, seat width 45-50 cm 1
Bracket Kit (bracket for tray incl. adjust. piece and nut) 1

TRAY UPHOLSTERY

Position Description Item no. . per chair

Tray upholstery, seat width 25-43 cm, right
Tray upholstery, seat width 25-43 cm, left
Tray upholstery seat width 45-50 cm, right
Tray upholstery seat width 45-50 cm, left

. S3gvl

b Netti au cepLus MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20 33



MULTI RACK

Position Description Item no. Pcs. per chair

_ Multi rack. To be mounted on the back top tube 41987 —

l MISC.

v )
34 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM Netti au cepLus



Prices are subject to price changes and errors. The newest catalogue can be found on our homepage: My-Netti-com

IN DIALOGUE WE CREATE
SIMPLE SOLUTIONS AND

ENABLE JOY OF LIFE

FEEL FREE TO CONTACT US:

Netti

NORWAY

Alu Rehab AS
Bedriftsvegen 23
N-4353 Klepp Stasjon

T: +47 5178 62 20
post@My-Netti.com

DENMARK

Alu Rehab ApS
Klaftehgj 8
DK-8680 Ry

T: +45 87 88 73 00
F: +4587 88 7319
info@My-Netti.com

My-Netti.com





